§ Present Continuous or Present Simple?
1 Choose the correct form of the verb.

1 Ihave/I'm having a shower every
morning.

2 Look! It’s raining. / It rains. We can’t go
to the beach.

3 What are you doing / do you do tonight?
Are you going / Do you go out?

4 What are we having / do we have for
dinner tonight?

5 Where are you usually going / do you
usually go on holiday?

6 What are you doing / do you do under
the table?

7 I'mtrying /I try to find my pen.
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2

omplete the sentences with the verb in the Present Continuous or
Present Simple.

1 rain
Oh no! It’s raining. We can’t play tennis.
It always alotin April.
2 read
I a very good book at the moment.
I in bed every night.
3 drink
We champagne because it’s our wedding
“anniversary today.
We always champagne on special occasions.
4 work |
She’s a doctor. She in St Mary’s Hospital.
She hard because she has an exam tomorrow.
5 noteat
1 that! It looks disgusting!
Vegetarians meat.
6 speak
Look! Peter French to that man over there.
How many languages he ?
7 do
Why we boring exercises?
Why we this exercise now?

Auxiliary verbs
Complete the sentences with am/is/are or do/does/don’t/doesn’t.
1 John's a vegetarian. He eat meat.
2 A Where you going?
B I going to the bank.
3 How many children your sister have?
I looking for a pair of black shoes.
Certainly. What size you take?
Why Hans studying Chinese?
Because he going to China on holiday.
Bonjour! Ca va?
Sorry. I understand. I speak French.
What you want to do tonight?

Why we go and see James?
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‘We can’t, because he working late tonight.
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